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Money - 3

1. Rs. 1285 is equal to paise.

2. Rs. 2452.25 is equal to paise.
3. Rs. 9890.55 is equal to rupees and
4. 87586 paise is equal to rupees.

5. 240000 paise is equal to rupees.

6. 157590 paise is equal to rupees and

Arrange the following in columns and add.
7. Rs. 271.35, Rs. 200.20 and Rs. 45.75.

8. Rs. 17618.25, Rs. 4204.60 and Rs. 30826.05.

9. Rs. 893.45, Rs. 475.56, Rs. 98.60 and Rs. 20.87.

Find the difference

10. Rs. 1226.08 and Rs. 1078.75.
11. Rs. 24656 and Rs. 32750.85.
12. Rs. 2972.89 and Rs. 3927.08.

13. Take away Rs. 426.75 from Rs. 1000.

14. By how much is Rs. 215.56 is less than Rs. 765.90.
15. By how much is Rs. 9000 is less than Rs. 11725.09.
16. By how much is Rs. 722.85 is greater than Rs. 75.

17. By how much is Rs. 2238.52 is greater than Rs. 989.89.

Do the following sums
18. Rs. 980.75 x5 =

19. Rs. 2222.25 x 100 =
20. Rs. 2313.75x6 =
21.Rs. 2679.90 +10 =
22.Rs.6225.00 +5 =

23.Rs.1800.54 +3 =
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24.Rs. 5808.00 + 8 =

25.Rs.1115.80+5=
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